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S initialsymmetrical short-circuit(apparent)power
Un V3 S =~au, Iy
) inc D.C(aperiodic)component of short-circuit current
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ip peak short-circuit current
) ( 1 12)

short-circuit breaking current

I, symmetrical short-circuit breaking current

Ibasym @Symmetrical short-circuit breaking current

I basym

. 2
_ 2 IDC
o = 4/ 15 +( \/E
Ik steady-state short-circuit current

( 1 12)

ILr symmetrical looked-rotor current

Urm
equivalent electric circuit

(independent)voltage source

Uy, nomina system voltage
( )

cU,/\/3 equivalent voltage source

¢ voltage factorc

V3 1

E subtransient voltage E” of a synchronous machine
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3.18 far-from generator short circuit
( )
3.19 near-to generator short circuit
I « 5%
3.20 F short-circuit impedances at the short-circuit location F

3.20.1

threephase a.c. system

3.20.2

threephase a.c.system

3.20.3

athree-phase a.c.system

3.204

321

3211

Z(D ofelectrical equipment

( 832 )

3.21.2

Zy positive-sequence short-circuit impedanceZo of a

( 831 43)

Z(2) negative-sequence short-circuit impedanceZ(Z) of a

( 831 4b)

Zo) zero-sequence short-circuit impedance Zp) of

( 831 40)

Z, short-circuit impedancezk of a three-phase a.c.system

short-circuit impedance of electrical equipment

Zy positive-sequence  short-circuit  impedance

Z

=2 negative-sequence short-circuit impe-

danceZ(Z) ofelectrical equipment

( 832 )

3.21.3

Z(0) zero-sequence short-circuit Z(0) of electricalequipment

( 832 )
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3.22 X 4 ubtransient reactance X 4 of a synchronousmachine

3.23 tmin Minimum time delay t,, of a circuit breaker

tmin

Z=R+jX
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220/380 V 1.00 0.95
380/660 V 1140 V 1.05 1.00
3 35 kV 1.10 1.00
35 220 kV 1.10 1.00
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